Subtroction crossing 10 Probhlem solving — easier.

Subtraction Crossing 10 1 Subtraction Crossing 10 1
la. Rex says, 1b, Kat says,
| start on 14, | subtract & and | start on 14. | subtract & and
then | sublract 2. What then | sublract 2. What
-. I- number will | land on? number will | land on?
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Write the calculation to mateh, Write the calculation to match.
2a. Trve or false? 2b, True or false?
15§ - & = 9 14 - 7 = 3
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Use the ten frames to prove your answer. Use the ten frames to prove your answer.
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3a. Ava is using a part-whole model to 3b. Josh is using a part-whole model to
subtract. subtract.
12 - = 4 13 - = a8

12 - 2 = 10=10 - & = 4 |13 - 3 = 1010 - 2 = 8

Is she comect? Explain vour answer, Is he comect? Explain your answer.
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